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Rolnts on Perpendicular Bisectors

54 Any point on the perpendicular bisector of a segment
is equidistant from the endpoints of the segment.

example: It A . €0 and 4B bisects D, then P
AC = AD and 8C = BD. 55——— -}

5.2 Any point equidistant from the endpoints of a
segment lies oo the perpendicular bisector of the
segment.
£xample: If AC = AD, then 4 lies on the perpendiculat bisector of @—

If BC = BD, then 8 lies on the perpendicular bisector of €D,
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The circumeenter of a tiangle is equidistant
from the vertices of the triangle.

Example: If / is the circumcenter of AABC
then AJ = B = CL
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ALGEBRA Lines £, im, and i are perpendicular
bisectors of APOR and meetat T If TQ) = 2x,
PT = 3y — 1, and TR = 8, find v, v, and z
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54 Any point on the angle bisector is equidistant from
the sides of the angle.

5.5 Any point equidistant from the sides of an angle lies
on the angle bisector.

Given: X bisects ZOPR,
NY L PQ and XZ L PR
Prove: XV = X7

The incenter of a trdangle is equidistant from

each side of the triangle.

Example: If & is the incenter of AABC, then
KP = KQ = KR.
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S=AaE _fﬁ is the perpendicular
bisector of AC. Find «.
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Given: £, us, andli are perpendicular bisectors A <52 -
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MR is the angle bisector
of ZNMP.Find x if m/1 = 5x + 8 and

ms2 = 8x — 16. 52 d"6 0"6 é bijec%ur
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Median: a segment from a vertex to the opposite side’s midpoint.

An altitude of a triangle is a segment from a
vertex to the line containing the opposite side
and perpendicular to the line containing that
side. Every triangle has three altitudes. The
intersection point of the altitudes ot a triangle is
called the orthacenter.

Practice Example:

COORDINATE GEOMETRY The vertices of AJKL

are J{—=2, 4), K{4, 4), and L(1, =2). Find the

coordinates of the orthocenter of AJKL.
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Find an equation of the altitude from K to lz' The slope of [T is =2, so the K( L' 4 ) A
slope ot the altitude x%--l-— s
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/A PROOF Write a two-column proof.
\ Given: ,\Y = X7

3 \__7:—&1« medians,
Prove: Y = /N
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Practice example: _ i ‘t
ALGEBRA Find v if AD is a median of AARC, 7 _ (}./‘ (
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Centroid .~ The certroid of a triangle is lecaled twe thirds of the distance from a g )
Theorem  vortey to the midpaint of the side apposite the vertex an a median 3 e sentioid
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ALGEBRA Points S, T, and U are the midpoints / [ z - 3
of DE, [F, and DF, respectively. Find x, y, and =. / j’x’y ‘; P = AL, BL = ZHF (L = 30U
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Practice Example: ALGEBRA Find vif AD is an
altitude of AABC.
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